Planetary Gearheads |23

Radial and Axial Load Ratings

Distance X[in]

000 039 079 118

Performance Specifications

1,250 279 Speed Axial Load, F,
AQTO060 o ol som rpm N [Ib]
z" N g 50 2542 [571]
. 5 el 17 o 100 2017 [454]
ok | T T 8 250 1486 [334]
= ~ —~— B <
ey I IR S \: uz g 500 1180 [265]
— I 1 . 1000 936 [211]
| ——r
0 0
0 10 20 30 40
Distan ce X [mm]
Distance X[in]
0.00 039 079 118 158
1800 o 401 Axial Load, Fa
AQT080 - x 1500 ™ 535 Nlb]
% 1,200 o~ \ 268 % 100 gggg {2?2}
& g0l 0P \\ — 201 8 250 2211 [497]
: T e e N i e R O 500 1755 [304]
134 @
T 1000 1393 [313]
300 — 67
0 0
0 5 10 15 20 25 30 35 40 45
Distan ce X [mm]
Distan ce X [in]
0. 039 079 118 158 197
300055 15m Ny 670 Speed Axial Load, F,
AOT1 20 2500 558 _ rom N [|bJ
- x z [0 gy g 50 6894 [1550]
L 2000 446 L
| 5 a0 gm_ T 100 5471 [1230]
' % 5% 5551 = — 335 & 250 4034 [907]
K] T T I g
p— & 1000 [L000Thm : : — 203 & 500 3203 [720]
= " R e S s i 1000 2540 [571]
J 0 0
0 10 0 30 40 50
Distan ce X [mm]
Distance X[in]
000 Q79 157 236 315
R - 2008 Speed Axial Load, F,
AQT160 7500 e rpm N [ib]
- X z 1007pry 5 50 14,122 [3175]
5o 2o ~ 10 g 100 11,209 [2520]
g £ ol N 1000 £ 250 8260 [1857]
= . B woohooopp "~ T~ [~ | 3 500 6556 [1474]
a T
=21 o e i B . 1000 5204 [1170]
J 0 0
0 20 40 60 80

Distan ce X [mm]

These graphs display the allowable radial load at a given distance (X) from the mounting surface based on an L1 life of 20,000 hours for the

mean output speed.

56

bostongear.com |

| MCC-P-1998-BG-EN-US 08/24



Planetary Gearheads

Dimensions

o

o

@J

*'L' Dimension will change depending on motor being used.
Note: Mounting adapters available for both round and square motors.

| 4x D THREAD x EV
LequaLLY SPACED ON A
@ C BOLT CIRCLE

Dimensions
A B Y H J
Part Output Shaft | Output Shaft Shaft End Pilot Body
Number Diameter Length Distance Diameter Diameter
mm [in.] mm [in.] mm [in.] mm [in.] mm [in.]
AQT060 14 [0.55] 36.8 [1.45] 2.5[0.10] 25[0.98] 16 [0.63] 5[0.20] 43 [1.69] 60 [2.36]
AQT080 20[0.79] 43.2 [1.70] 4.0[0.16] 28 [1.10] 22.5[0.89] 6 [0.24] 60 [2.36] 80 [3.15]
AQT120 25 [0.98] 58.4 [2.30] 5[0.20] 40 [1.57] 28 [1.10] 8[0.31] 80 [3.15] 110.5 [4.36]
AQT160 40 [1.57] 90.3 [3.56] 8.0 [0.32] 65 [2.55] 43 [1.69] 12 [0.47] 105 [4.13] 140 [5.50]
Part F D E K *L P
Number Pilot Output Thread Depth Input Standard Length Output
Length Housing mm [in] Body mm [in] Body
mm [in] Thread Diameter Length
mm [in] | ratio | ratio mm [in]
3:1-10:1 15:1 - 100:1
AQTO60 | 2.5[0.098] M5x0.8-6H 8.1[0.32] 92 [3.62] 91.7 [3.61] | 109 [4.29] 52 [2.05] 38.5 [1.51]
AQT080 | 2.5[0.098] M6x1.0-6H 10.1 [0.40] 114.5 [4.51] 119.7 [4.71] | 142.7 [5.62] 70 [2.76] 30.8 [1.21]
AQT120 | 4.0[0.157] M10x1.5-6H 16 [0.63] 150 [5.9] 148.2[5.83] | 179.3 [7.086] 95 [3.74] 56.1 [2.21]
AQT160 | 5.0[0.197] M12x1.75-6H 21.6 [0.85] 188.7[7.43] 195.8 [7.71] | 243.8 [9.60] 124 [4.88] 6 [2.99]
Specifications
Part Backlash s : .
Number (arc-min) Efficiency Ratio Availablility
1 13 93% 2.4 [5.4] 3:1, 4:1,5:1, 7:1; 10:1
AEITEY 2 15 88% 3.3 [7.3] 15:1, 20:1, 25:1, 30:1, 40:1,50:1; 70:1; 100:1
AQTO80 1 13 93% 5.7 [12.7] 3:1,4:1,5:1, 7:1; 8:1; 10:1
2 15 88% 7.2 [15.9] 15:1, 20:1, 25:1, 30:1, 40:1, 50:1; 70:1; 80:1; 100:1
AQT120 1 13 93% 12.0 [26.5] 3:1, 4:1,5:1, 7:1; 10:1
2 15 88% 15.4 [33.9] 15:1, 20:1, 25:1, 30:1, 40:1, 50:1; 70:1; 100:1
AQT160 1 13 93% 24.8 [63.8] 3:1, 4:1,5:1, 7:1; 10:1
2 15 88% 31.2 [68.8] 15:1, 20:1, 25:1, 30:1, 40:1, 50:1; 70:1; 100:1

Tr = Rated output torque at rated speed for specific hours of life.
Tpeak = Allowable momentary peak torque for emergency stop or heavy shock loading.
J = Mass moment of inertia reflected to the input shaft (including pinion assembly).

Specifications subject to change without notice.

bostongear.com |

57

| MCC-P-1998-BG-EN-US 08/24



Planetary Gearheads |23

Pre-Tightening Torque | Final Tightening Torque

Gearhead
Frame Size

Gearhead
Model

Installation
Mounting Instructions
1. Slide the provided sleeve into the hub and align the slot in the bushing
with the slot in the hub. ‘
_‘ ! Gearhead
2. Set the motor on a work surface or hold fixture with the output shaft \
facing straight up. If there is a key on the motor, remove it and align the |
keyway with the slot in the hub. Slide the gearhead down onto the motor :
shaft. Bl Hub
|
3. Rotate the hub to align the input housing access holes with the hub |
clamping bolts. |
|
4. Using a torque wrench, tighten the hub bolts to the pre-torque value LE Ut housi
indicated in the table. : nput housing
|
5. Bolt the motor to the gearhead with the bolts provided. ;
6. Gradually tighten the hub bolts in three steps, increasing the torque each ;
time until reaching the final tightening torque in the table. Ej:g Sleeve
|
7. Incorrectly mounted motor and gearbox void the warranty
|
Hub Bolt Tightening Torques 1
{ Motor
|

060 2 0.2 39 4.4 |
080 4 0.4 76 8.5 i
AQUaTRUE™
120 16 1.8 316 36
160 32 3.6 636 72

Gearhead must be mounted in vertical orientation.

Lubrication

All AQT Series Planetary Gearheads are supplied as Lubricated-for-Life for maximum efficiency, maintenance-free operation. The
inherent design of planetary gearing is conducive to the use of grease as a lubricant, because the rotation of the sun and planet gears
inside of the internal ring gear promotes even distribution of the lubricant and consistent recirculation. The lubricant we apply at the
time of assembly is Lubriplate FGL-1 grease which has the characteristics shown below.

LUBRICANT | Type Operatinga'lr':egrgperature Certifications | Comments
Mineral-base, NLGI " NSF International
Klubersynth FGL-1 Grade 1 0 to 360*F H-1 Registered H1 Food-Grade

Notes: Temperature limit is dictated by multiplier components and not the lubricant.

bostongearcom | 58 | MCC-P-1998-BG-EN-US 08/24



bostongear.com | 59 | MCC-P-1998-BG-EN-US 08/24





